


il llindion : >
Weﬁowmww«afci/t)

={txyio) 9%
b= Uz) e Yy %B—I-C;;C—i)lp

KNS : e AR

f (x y: ')} “099%»(’4
"2 Q M =S cnrws ‘ZZLMW
” P N | P+ ax+

\i
—R=P+@.
%MMW W

Wbecw\.c, :
cammmo&wva /’mfwu,
Q QW%WW E(R) + L

ﬁng%%vﬂcﬂuwﬁlﬁ)cayugab

%W@[}WOWM;?

&0




ollcent addlesro E
b Yl
‘d/. | (—‘—“ZL‘—
= . P+~Q=—
Yl | ‘ : =>
G ‘ “)zo
Wt ‘ //'Q-HQ
“Z‘m
‘ ):
W
swtre

‘ -"E(G)
)C
E(R



18, ¢ N Wewsbauw @

= I
(hp=2Z+2Zr \V

[ /1,2 ﬁ & M’
Pl = 4f:t(z)3

y = 454+ Ax+B = Pl
G=0! A=93 A)
'PIGD); o0 = (0:4) B"'%[A)

@/@%

*%W




